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QUESTION 1

A proposed SRDF/S solution was modeled with BCSD. The model assumed that the source array had 4 GigE ports.
The RA Utilization chart shows the maximum utilization is at 70%.

How many GigE ports should be recommended to ensure a successful implementation?
A4
B.5
C.6
D.8

Correct Answer: C

QUESTION 2

A company plans to deploy Symmetrix VMAX arrays in their VMware vSphere environment. The ESXi hosts will be
connected to the VMAX arrays over a FC SAN.

Which VMAX FA port flag must be enabled?
A. SPC-2

B. VCM State

C. SCSI Support

D. Volume Set Addressing

Correct Answer: A

QUESTION 3

What describes the difference between Asynchronous and Synchronous Copy on First Write (COFW)?

A. Asynchronous mode results in fewer disk operations during COFW.

B. Asynchronous results in a shorter host response time as there is no COFW penalty compared to Synchronous.
C. Asynchronous mode results in more disk operations during COFW.

D. Asynchronous and Synchronous mode result in similar host response time as both suffer the COFW penalty.

Correct Answer: B

QUESTION 4
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You are designing an SRDF/S over Fibre Channel solution. Data centers are 50 km apart and 4 Gb/s FC links are in
place.

What is the minimum number of buffer-to-buffer credits required to maximize the utilization of the links?
A. 25

B. 50

C. 100

D. 300

Correct Answer: C

QUESTION 5
What is the size of a fibre channel frame?
A. 2112 bytes
B. 1500 bytes
C. 9000 bytes
D. 2148 bytes

Correct Answer: D
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